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#include <stdio.h>

( m ) void main ()

: {

/ fig Aa,b / int a, b,sum;

printf ("ﬁj > % - BE")
scanf ("%d", &a) ;
printf (“ﬁj %= B#");
scanf ("%$d", &b) ;

/qﬁ.ﬁﬁﬂjrsum/ sum=a+b;
printf ("$d\n",sum) ;

(:%5% ) }return;
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#include <stdio.h>
(s ) void main ()

/ %ﬁﬁﬁ/\;,b,c / {

sum = a+b+c

/aﬁﬁ‘ﬁtﬁrsum/
(wx ) }

?

return;
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#include <stdio.h>

(e ) void main ()
/ﬁﬁ“ﬁ/\ar,b,c,d/ {
sum = a+b+c+d P

// %ﬁﬂgum //
[%ﬁa] }

return;
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=1, ;um =0
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#include <stdio.h>

void main () i:L;mn:O
|
5 /s /
sum=sum +d / $ﬁﬁtE,"sum /
return; . (:é%% )




#include <stdio.h>
void main ()

{

return;

}
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(B )

1=0,sum=0

/s /

sum = sum + d[i] / 560 sum /

|++

(wx )




